
1-8 88 75 63 50 38 25 13 0

1) 86 275 - 73 698 =

12 577 12 585 12 675 13 275 16 275 86 275

-8 -90 -600 -3 000 -70 000

2) 42 931 - 23 318 =

19 613 19 621 19 631 19 931 22 931 42 931

-8 -10 -300 -3 000 -20 000

3) 70 004 - 15 811 =

54 193 54 194 54 204 55 004 60 004 70 004

-1 -10 -800 -5 000 -10 000

4) 86 764 - 79 175 =

7 589 7 594 7 664 7 764 16 764 86 764

-5 -70 -100 -9 000 -70 000

5) 88 714 - 80 795 =

7 919 7 924 8 014 8 714 88 714

-5 -90 -700 -80 000

6) 56 884 - 43 159 =

13 725 13 734 13 784 13 884 16 884 56 884

-9 -50 -100 -3 000 -40 000

7) 29 588 - 27 091 =

2 497 2 498 2 588 9 588 29 588

-1 -90 -7 000 -20 000

8) 74 495 - 24 691 =

49 804 49 805 49 895 50 495 54 495 74 495

-1 -90 -600 -4 000 -20 000

1. 12 577

2. 19 613

3. 54 193

4. 7 589

5. 7 919

6. 13 725

7. 2 497

8. 49 804
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1-8 88 75 63 50 38 25 13 0

1) 86 275 - 73 698 =

12 577 12 585 12 675 13 275 16 275 86 275

-8 -90 -600 -3 000 -70 000

2) 42 931 - 23 318 =

19 613 19 621 19 631 19 931 22 931 42 931

-8 -10 -300 -3 000 -20 000

3) 70 004 - 15 811 =

54 193 54 194 54 204 55 004 60 004 70 004

-1 -10 -800 -5 000 -10 000

4) 86 764 - 79 175 =

7 589 7 594 7 664 7 764 16 764 86 764

-5 -70 -100 -9 000 -70 000

5) 88 714 - 80 795 =

7 919 7 924 8 014 8 714 88 714

-5 -90 -700 -80 000

6) 56 884 - 43 159 =

13 725 13 734 13 784 13 884 16 884 56 884

-9 -50 -100 -3 000 -40 000

7) 29 588 - 27 091 =

2 497 2 498 2 588 9 588 29 588

-1 -90 -7 000 -20 000

8) 74 495 - 24 691 =

49 804 49 805 49 895 50 495 54 495 74 495

-1 -90 -600 -4 000 -20 000

1. 61 505

2. 60 026

3. 29 507

4. 36 345

5. 32 061

6. 46 579

7. 12 544

8. 62 449
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Облегченный вариант 1-8 88 75 63 50 38 25 13 0

1) 86 275 - 73 698 =

86 275

-8 -90 -600 -3 000 -70 000

2) 42 931 - 23 318 =

42 931

-8 -10 -300 -3 000 -20 000

3) 70 004 - 15 811 =

70 004

-1 -10 -800 -5 000 -10 000

4) 86 764 - 79 175 =

86 764

-5 -70 -100 -9 000 -70 000

5) 88 714 - 80 795 =

88 714

-5 -90 -700 -80 000

6) 56 884 - 43 159 =

56 884

-9 -50 -100 -3 000 -40 000

7) 29 588 - 27 091 =

29 588

-1 -90 -7 000 -20 000

8) 74 495 - 24 691 =

74 495

-1 -90 -600 -4 000 -20 000

1. 12 577

2. 19 613

3. 54 193

4. 7 589

5. 7 919

6. 13 725

7. 2 497

8. 49 804

     

Решите примеры.
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